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INTRODUCTION
14821A Lance, Missile Number 3390, Round Number 331 APT, was launched from
LC-39, White Sands Missile Range (WSMR), New Mexico, at 1029 MDT, 2 May
1979. The scheduled launch time was 1015 MDT.
DISCUSSION
Meteorological data were recorded and reduced by the White Sands Meteoro-
logical Team, Atmospheric Sciences Laboratory (ASL), White Sands Missile
Range, New Mexico. The data were obtained by the following methods:
1. Observations
a. Surface
(1) Standard surface observations to include pressyre, tem-
perature (°C), relative humidity, dew point (°C), density (am/m’), wind
girecgion and speed, and cloud cover were made at the LC-39 Met Site at
-0 minutes.

(2) Monitor of wind speed and direction from one anemometer
was provided in the launch control room.

b. Upper Air

(1) Low level wind data were obtained from RAPTS T-9 pibal
observation at:

SITE AND ALTITUDE
LC-36 2160 meters (30-meter increments)
LC-36 3720 meters (30-meter increments)

(2) Air structure data (rawinsonde) were collected at the
following Met Sites. Data were collected from surface to balloon burst
in 500-feet increments.

SITE AND_TIME
WSD 1050 MST
JAL 0915 MST

AFSWC 0905 MST



The data are presented in the following tabulations:

ELEVATION 4063.75 FT/MSL
PRESSURE 869.8 MBS
TEMPERATURE 23.1° °C
RELATIVE HUMIDITY 26 %

1_ DEW POINT 3 °C

| DENSITY 1020 GWM5
WIND SPEED 10 MPH
WIND DIRECTION 210 DEGREES
CLOUD COVER 1 Cu
CLOUD COVER 2 Ci

TABLE I. SURFACE OBSERVATIONS TAKEN AT 1029 MDT, 2 MAY 1979
g‘;lLﬁ;‘?. 14821A LANCE, MISSILE NO. 3390, ROUND NO.
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PILOT BALLOON MEASURED WIND DATA
(30 meter increments)

TABLE__I]

RELEASED FROM__ | C-36 DATE___ 2 May 1979 _TIME__ 1005 MOT
RELEASE POINT COORDINATES (WSTM) X= 502,452.98 Y=_190,654,50 H=_4043.49
MISSILE TYPE_14821A Lance MISSILE NO._3390 ROUND NO.__ 331 APT
MISSILE LAUNCHED FROM__LC-39 DATE__ 2 May 1979  TIME___ 1029 MOT
NOTE: WIND DIRECTIONS ARE REFERENCED TO THE FIRING AZIMITH

OR TRUE NORTH___TRUE NORTH

HEIGHT | DIRECTION SPEED HEIGHT | DIRECTION SPEED
| mtrsAGL DEGREES MPH mtrs AGL DEGREES MPH
SFC 230 16.0 390 210 17.0
30 224 15.5 - 2o | 22 16.5
60 218 14.5 ' 250 214 16.5
90 212 14.0 480 216 16.0
120 206 | 13.0 sio 218 17.0
150 205 15.0 540 220 17.5
180 205 16.5 570 | 222 18.0
210 204 18.5 £00 223 18.5
240 203 20.0 630 225 19.5
270 204 19.5 660 227 20.0
300 205 18.5 690 229 21.0
330 206 18.0 720 231 21.5
360 207 17.0 750 231 21.0




HEIGHT | DIRECTION | SPEED
mtrs A DEGREES MPH
780 231 20,0
810 231 19.0
840 231 18.0
870 234 18.0
900 236 18.0
930 238 18.0
960 240 17.5
990 242 18.5
1020 244 19.0
o]
1050 246 19.5
1080 248 20.0
110 249 21.0
190 | 250 | 2.0
1170 251 23.0
1200 252 23.5
1230 253 24.9
1260 253 24.0
1290 253 24.5
1320 253 24.5
1350 265 25.5
1380 256 26.0
1410 257 27.0

Page 2 of 3 | Pages.:
|
HEIGHT DIRECTION | SPEED {
mtrs AGL; DEGREES MPH 4
1440 258 27.5 ‘
1470 255 29.5 <
1500 | 281 31.0 i
-1530_| 248 2.5 ﬁ
1560 244 34.0 |
1590 246 36.0 ]
1620 247 37.5 1
1650 248 39.5 |
1680 249 4.0
1710 249 42.5
1740 249 44.0
3390 249 45.5
1800 249 47.0
1830 249 - 48.0
1860 249 49.0
1890 249 50.0
0 249 50.5
1950 | 249 | §1.5 |
1980 “_?48 52.0
2010 248 52.5
L2040 247 53.0
2070 247 53.5
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HE IGHT | D
mtrs AGL

IRECTION
DEGREES

SPEED
MPH

2100

246

54.0

2130

246

54.5

2160

245

55.0

2190

2220

2250

2280

2310

2340

2370

2400

2430

2460

2490

2610

2640

2670

2700

2730
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mtrs ABL

DIRECTION
DEGREES

SPEED
MPH

2760

2790

2820
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2880
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2940

2970

3000

3030

3060
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1
PILOT BALLOON MEASURED WIND DATA
(30 meter increments)

TABLE_ ]I

RELEASED FROM__| (36 DATE___ 2 May 1979 _TIME_ 3029 MDT
RELEASE POINT COORDINATES (WSTM) X=_502.452.98 Y= 190.(54.50  H=_ 4043.49
MISSILE TYPE_14321A Lance MISSILE NO.__ 3390 ROUND NO._ 331 APT

MISSILf LAUNCHED FROM_ | C-39 DATE__ 2 May 1979 TIME_ 1029 MDT
NOTE: WIND DIRECTIONS ARE REFERENCED TO THE FIRING AZIMUTH

OR TRUE NORTH TRUE NORTH

HEIGHT | DIRECTION | SPEED | HEIGHT | DIRECTION [  SPEED
| mtrsAGL | DEGREES | _ MPH |  mtrs AGL DEGREES MPH
SFC 230 16.0 390 226 23.0
30 235 13.5- 420 225 22.5
60 229 1.0 | aso | 225 22.5
90 224 08.5 _ 480 224 22.0
120 208 . 06.0 510 223 21.5
150 219 09.5 540 221 21.0
180 | 10 2.5 570 | 219 20.5
210 220 16.0 0 | 217 20.0
240 220 19.0 630 | 220 19.5
270 222 20.0 660 | 223 18.5
300 223 21.0 690 226 18.0
330 225 22.0 720 228 17.0
360 226 23,0 750 | 230 17.5




HEIGHT | DIRECTION | SPEED

mtrs AGY DEGREES MPH
780 231 17.5
810 232 17.5
840 233 17.5
870 237 18.0
900 241 18.5
930 245 19.0

960 249 19.0
930 _7_~?§9N__“ __I9.0
1020 | 250 19.0
1050 251 19.0
1080 251 19.0
1110 254 19.5
1140 256 20.0
1170 259 20.5
1200 261 21.0
1230 261 21.5
1260 261 20.5
1290 261 20.5
1320 260 20.0
1350 | 58 21,5
1380 255 _22.5
1410 253 23.5

Page 2 of 4 Pageg..

HEIGHT DIRECTION | SPEED
mtrs A DEGREES MPH
1440 250 24.5
1470 250 24.5
1500 | 250 24.0
-1530 | 250 24.0
1560 é49 23.5
1590 25) 24.5
1620 253 25.0
1650 255 26.0
1680 256 26.5
1710 256 29.5
1740 256 32.0
1770 256 34.5
1800 255 37.0
1830 254 39.5
1860 253 4.5
1890 252 43.5
{1920 250 45.5
<t 1950 ggg'. 47.5
1980 247 49,0
2010 246 | 50,5
2040 | 244 | 0520
2070 244 _52.0




HEIGHT | DIRECTION | SPEED

mtrs AGL DEGREES MPH
2100 243 52.0
2130 243 52.0
2160 242 52.0
2190 242 51.0
2220 241 50.0
2250 241 49.0
2280_|  oag s

| a0 | 200 | 415 |
2340 240 47.0
2370 240 47.0
2400 240 46.5
2430 239 46,0

__ 2460 237 45,5
2490 236 45.0
2520 234 44.0
2550 235 44.0
2580 235 44.0
2610 236 44.0
2640 236 43.5
2670 237 44.0
2700 237 44.0
2730 237 44.5

Page 3 of 4 Pages

HE IGHT DIRECTION | SPEED

mtrs ABL| DEGREES MPH
2760 237 84.5
2790 238 46.0
2820 . 238 47.0

2850 | 239 48.0
2880 239 49.0
2910 240 50,
2940 | a1 e a
2970 242 53.0
3000 262 54.0
3030 243 53.5
3060 243 53.0
3090 | 243 52.5
N20 | 243 51.5
350 | 243 52.0
380 | 242 52.0
3210 | 24 52,5
3240 | 240 £2.5
3270 | 242 | 530
3300 | 244 53.0
3330 | 246 53.0

13360 | 248 53,0

3390 | 248 540




HEYGHT | DIRECTION | SPEED
mtrs AGL DEGREES MPH
3420 248 | 55.0 |
3450 248 56.0
3480 247 57.0
3510 247 58.5
- S —
3540 247 60.0
3570 247 61.5
3600 246 62.5
e
‘____333_(_)“_*_ 247 62.5
_3.660 o 248 "P _6_2.5
3690 249 _62. ~5'__j‘
3720 249 62.0
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